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General Instructions

This Question-Cum-Answer (QCA) Booklet ontains 55+1 pages. Question Paper in detachable form is
available at the end of the QCA Booklet which can be taken away by the candidate after examination.

For rough work, blank page has been provided at the end of this Booklet.

On receipt of the Booklet, please cheekithat this QCA Booklet does not have any shortcomings, torn or
missing pages etc. If, s0, get it replaced with.a freshi QCA Booklet
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Important Instructions

Candidates should read the undermen-
tioned instructions carefully. Violation
of any of the following instructions may
entail penalty in the form of deduction of
marks, cancellation of candidature,
debarment from further Examination of
the Commission etc.
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(a) Write your Registration Number and other
details only in thegspace provided in the
Question-Cum-Answer (QCA) Booklet for
candidates.

(b) Do not_ disclose “your identity in any
manner such as, by writing your Name,
Registration  flumber, Mobile number,
Address, "Question=Cum-Answer (QCA)
Booklet No.etc. elsewhere in the Booklet
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Do not write in the. QCA Booklet anything
other than the actual answer such as couplet,
obscene, abusivelexpression etc., nor put any
sign/mark having no relevance to Ihc answer.
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Do not make any direct/indirect appeal/threat
to the examiner.
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Do not write answers in bad/illegible
handwriting. Such answers may not be
evaluated.
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Write answers in ink only. Do not use pencil
for writing the answers. However, pencil may
be used for drawing diagrams, sketches, etc.
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Do not write answers in medium other than the
authorized medium in the Admission
Certificate. Do not use mixed language either
1.e. authorize and unauthorized media together
for writing answers.
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Write answer at the specific space (right below
the question) only. Answers written elsewhere
at unspecified places in the booklet shall not be
evaluated.
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If you wish to cancel any work, draw your pen
through it and write “Cancelled” across it
otherwise it may be valued.
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a g uestion/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be
given for answers written in a medium other than the authorized one.

Answers to Questions No. I to 10 should be in 150 words, whereas answers to Questions No. 11 to 20
should be in 250 words.

Keep the word limit indicated in the questions in mind

Any page or portion of the page left blank in the Questions-cum-Answer Booklet must be clearly struck

off.
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An effective crop insurance system is crucial in cushioning income losses for farmers. In this
context, assess the performance of Pradhan Mantri Fasal Bima Yojana. (Answer in 150 words)
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Explaining the significance of the Insolvency and Bankruptcy Code (IBC), highlight the
challenges that need to be addressed for it to achieve its true potential. (Answer in 150 words) 10
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Discuss thj Eotemial Z)f multimodal transport in transforming India’s transportation and Jogistics
sector. Merition the measures taken by the government in this regard. (Answer in 150 words) 10
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Private investment is a key driver that catalyses an economy into a self-sustaining cycle of

growth. Explaining the statement, highlight the steps that should be taken to revive private

investment in India. (Answer in 150 words) 10
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Comment on the efficacy of waste to energy plants being established in India in order to solve the :?:did,m
problem of discarded municipal solid waste. (Answer in 150 words) 10 | scen
MW Municpe Ssld weale s marge

_—

Crmanhwg o amssee derefic msclicod , Indsalra

= Clhes (ke Tndesa, A"“”““"‘f“" d
NaiF“n aJul M""j M_W ﬂaé/c "
W-T-€  randudleine

" Sathuag ¢ j‘“ﬂ”ﬁg‘ :
3 00 lpdusv .
m_—wﬂ'%ﬂ“’m‘ doconmhsnliged

5 e
Sunbernd - .
) TJQ o w casdeon fowi B‘a
c'&bio ¢ pIOAOS NN e ¥
J‘;ﬂw Psatied Cookens ¢

14







wﬁwwmmwmmpwm?rmrﬁ?m?n THF G 99, SAFHT @7
meﬁmﬂmﬁ%m?ﬁwwﬁmﬁﬁmwmﬁﬁm (397 150
91531 | )

Highlighting the significance of National Clean Air Programme (NCAP), mention the strategics

adopted by it for mitigation, knowledge and database augmentation and institutional
strengthening. (Answer in 150 words) 10
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In recent decades India has made changes in its IPR regime to make it TRIPS compliant, however

. . - __*‘ - - .
there continue to remain fundamental differences on IPR related issues in relation to the
developed world. Analyse. (Answer in 150 words) 10

gntia's  faBut Aok 2005, Copyrugld adk

?p. W%wavuw M‘E’M"W
S bass o) (PR frommawinke p s S

TRIPS  Compliamt -
> midda b quael o e Pt

and NLGM : Nohewa) Lo Expadls H‘A"”"*‘
“ G Jnou. av{:&}

Dug bicung M0

W\MHO‘J C.JYY\-P
- :*Uw’ ”Kamauw ey
BT\ o d

a/v\A:LA




19

uuuuuu

this margin




FFATH-2 FT T F49 ISRO F T FATet wframi # & v, afes JzaE-1 ft gomr #
Hﬁﬁmqﬂﬁ?wﬁwmmélmmﬁﬁmmaﬁﬁw e Fifsm

ﬁWWWWWqWWﬂWF{WWW*I (3T 150 91==1 # %)

Chandrayaan-2 has not only been considered as one of the most challenging missions of ISRO
but also more technologically advanced than Chandrayaan-1. Elaborate. Further, examine how

lunar exploration can benefit humanity in general. (Answer in 150 words) 10
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Given the strategic rivalries and growing space capabilities of many countries, militarisation of

outer space is considered a threat. In this context, discuss the need for a rule-based order to
securely govern outer space. (Answer in 150 words) 10
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10.

Act, 2002 addresses these issues. (Answer in 150 words) 10
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national security. Elucidate. In this context, discuss how far the Prevention of Money Laundering | this margin
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Despite the government meeting its disinvestment targets. in recent years, its efforts towards

strategic disinvestment and privatisation remain limited. Discuss. (Answer in 250 words) 15
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There have been arguments that employment creation and productivity do not grow adequately as

firms age in India. In this context, analyse why Indian firms start small and stay small. (Answer in
250 words) 15
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Bring out the importance of focussing on energy efficiency for achieving energy security in India.
What steps havebeen taken by the government in this regard? (Answer in 250 words) 15
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Despite having a statutory framework for minimum wages since long, many workers continue to

remain outside its reach. Examine the reasons and suggest corrective measures in this regard.
(Answer in 250 words) 15
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(39T 250 9r=at & F)

Highlight the significance of a well-established carbon market in India. In this context, explaining
the mechanism of renewable energy certificates (REC), highlight the challenges that the REC
market faces. (Answer in 250 words)
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Discuss the need and challenges in integrating the efforts for disaster risk reduction and climate
change adaptation. (Answer in 250 words) 15
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Given the significance of data in policy making, analyze why its potential remains underutilised.
Also, suggest some measures for transforming India's data infrastructure in this regard. (Answer
in 250 words) 15
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IC-OAT & § IuarE 1 9F F#2 Freat & [ #1==t fifvo zw dm § fraw srEw a
fAaee 2 #m 3y v w22 (397 250 95351 7 3)
The roots of insurgency in the North Eastern region are embedded in a hgst of factors. Discuss.

What measures have been taken to tackle cross-border insurgency in this area? (Answer in 250
words) 15
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Highlight the challenges faced by India in countering terror financing. Also, mention the steps
taken by India in this regard. (Answer in 250 words) 15
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